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Explain Plan® 45l

=#f EXPLAIN SELECT * FROM pg_proc
ORDER BY proname;

QUERY PLAN
Sort (cost=181.55..185.92 rows=1747 width=322)
Sort Key: proname

-> Seg Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=322)




IDHEMNFAREZE

K> THAREZHEE
- 752, /—K, ,ﬁﬁ? J4IL3 . AHtEYk

T— ATV LI-RBR, HOINIZDMDER
FOHERIT, TRTLELIZESINDS,
IRTHDEREFOAANELYNEZITERY., L&D
J—FRIZUY <ETERMDEEFICELTL,
H/—FIEF/—FDaAXLEZITES,
InitPlans&Subplans(EEIEILVE HE DERIZED
NnNd,




Explaining — Widths

= EXPLAIN SELECT oid FROM pg_proc;
QUERY PLAN

Seq Scan on pg _proc
(cost=0.00..87.47 rows=1747 width=4)
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Explaining — Rows

= EXPLAIN SELECT oid FROM pg_proc;
QUERY PLAN

Seq Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=4)
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Explaining — Cost

= EXPLAIN SELECT oid FROM pg_proc;
QUERY PLAN

Seq Scan on pg _proc
(cost=0.00..87.47 rows=1747 width=4)
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Explaining — Cost

INTA—H & BA HEE | fEXHERE
seq_page_cost U—lrow )LEAAH1E | 1.00 | (FE)
random_page cost | T A LiEAIAA1[E] 4.00 |41ZEL
cpu_tuple cost TOAIE ] 0.01 10053
cpu_index_tuple cost | &5 D ALIE1[] 0.005 |200fZEL>
cpu_operator_cost TE1[E 0.0025 | 400f&&E LN
effective_cache size | R—TFxypvyi a4 X 128MB | N/A




Explaining — Explain Analyze

=t EXPLAIN ANALYZE SELECT oid FROM pg_proc;
QUERY PLAN

Seq Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=4)
(actual time=0.077..17.082 rows=1747 loops=1)

Total runtime: 20.125 ms
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Explaining = 7o BEF
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Seq Scan JEF ¥ : #l|zE
= EXPLAIN SELECT oid FROM pg _proc;
QUERY PLAN

Seq Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=4)

s RVERKR, BIIREFRIDOREANERAFTVYUTH
« FHITHOIDOLT RITEFIVITH

o KELT—TINIEALTYIRRZNYUDAENRELY
« JXMBEABIRMEL), T(27 L), TE(oid)

e FM—AJLaXNL 87.47
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Seq Scan ;EEF : iiBR

=t SELECT relpages, reltuples FROM
pg _class WHERE relname =

relpages | reltuples
__________ +___________

70 | 1747

/\—/wnJLaHyJ\ﬁ_ LDEE

(70 x 1.0) + (1747 * 0.01)
=87.47

'pg_proc’ ;

12



WHERE& DXk

=t EXPLAIN SELECT oid FROM pg_proc WHERE oid > O;

QUERY PLAN

Seq Scan on pg_proc
(cost=0.00..91. 84 rows=583 width=4)
Filter: (oid > 0::0id)

\??:“t@iﬁi%?@:xh
(cpu_operator_cost)
87.47 + (1747 * 0.0025)

- 91.84 ﬁj
THTHET S
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Sort JEHEF

=t EXPLAIN SELECT oid FROM pg_proc ORDER BY oid;
QUERY PLAN

Sort (cost=181.55..185.92 rows=1747 width=4)
Sort Key: oid

-> Seq Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=4)

« BAREY%Y—bF : ORDER BYH]

« EEEARY7ZLY—b : Unique, Sort-Merge Join &

o FIRaARFERES>TWS: PDEIXT CIZILRAN
SHZELY
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Index Scan JEE F

=t EXPLAIN SELECT oid FROM pg_proc WHERE oid=1;
QUERY PLAN

Index Scan using pg proc_oid_index on pg_proc
(cost=0.00..5.99 rows=1 width=4)
Index Cond: (oid = 1::0id)

o B IKRELT—TILTIXORMELLGELDTEIX
NAHEEEEMAFLY
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Bitmap Scan ;EHEF

test=#f EXPLAIN SELECT * FROM ¢g3c, g3c as g3cs
WHERE (qg3c. ipix>=03cs. ipix—3 AND g3c. ipix<=qg3cs. ipix+3)

OR (g3c. ipix>=g3cs. ipix—1000 AND qg3c. ipix<=qg3cs. ipix—-993) ;

QUERY PLAN

Nested Loop
-> Seq Scan on g3c g3cs
-> Bitmap Heap Scan on g3c
—> BitmapOr
—-> Bitmap [ndex Scan on ipix_idx
—> Bitmap [ndex Scan on ipix_idx

¢ 8.1TEMSNT
» BitmapOr, BitmapAnd TEHDE VLIV TEEIK
o JL—23vDEVRTYT EAERNTIERT S
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Result ;BEEF

= EXPLAIN SELECT oid FROM pg proc WHERE 1+1=3;
QUERY PLAN
Result (cost=0.00..87.47 rows=1747 width=4)
One-Time Filter: false
-> Seq Scan on pg_proc

(cost=0.00..87.47 rows=1747 width=4)

e JETF—TILRALVE DT
T— IS BET IEENGEONSGE

17




Unique JEXF

=t EXPLAIN SELECT distinct oid FROM pg proc;

QUERY PLAN

Unique (cost=181.55..190.29 rows=1747 width=4)

—> Sort (cost=181.55..185.92 rows=1747 width=4)
Sort Key: oid

-> Seqg Scan on pg_proc
(cost=0.00..87.47 rows=174] width=4)

ARty EET HEZTHIRF
TOHMARBZIIET ., BIZEE T H1TEEVYERS
ANEYREIFTHY—FEH (SortEEFDRIZITI)
BT AR EIZICPUEE | X2

DISTINCT & UNION TN
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Limit JEE F

=t EXPLAIN SELECT oid FROM pg_proc LIMIT 5;
QUERY PLAN
Limit (cost=0.00..0.25 rows=5 width=4)
—-> Seq Scan on pg_proc
(cost=0.00..87.47 rows=1747 width=4)

e TIXFEEINFEIZZFLLY
« FDITERIEIZIRY
« VLEDHIBIARMENNTA I ZYRDIFKRLNET]

=t EXPLAIN SELECT oid FROM pg_proc LIMIT 5 OFFSET 5;

QUERY PLAN

Limit (cost=0.25..0.50 rows=b width=4)
-> Seq Scan on pg _proc
(cost=0.00..87.47 rows=1747 width=4)
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Aggregate JEE ¥

=t EXPLAIN SELECT count (*) FROM pg proc;
QUERY PLAN

Aggregate (cost=91.84..91.84 rows=1 width=0)
—> Seq Scan on pg proc (cost=0.00..87.47 rows=1747 width=0)

 count, sum, min, max, avg, sttdev, variancez{s
- GROUPBY [FRHNDIGEEEMNZBONLEAHY

=t EXPLAIN SELECT count(oid), oid FROM pg proc GROUP BY oid;
QUERY PLAN
HashAggregate (cost=96.20..100.57 rows=1747 width=4)
—> Seq Scan on pg_proc (cost=0.00..87.47 rows=1747 width=4)
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GroupAggregate JEE F

=t EXPLAIN SELECT count (x) FROM pg_foo GROUP BY oid;
QUERY PLAN

GroupAggregate (cost=37442.53..39789.07 rows=234654 width=4)
—> Sort (cost=37442.53..38029.16 rows=234654 width=4)
Sort Key: oid
—> Seq Scan on pg_foo (cost=0.00..13520.54 rows=234654 width=4)

« GROUPBY#{#ERAL. JFUXKELHFEREVLEIC
£87171O
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Append JEE ¥

=t EXPLAIN SELECT oid FROM pg_proc
UNION ALL SELECT oid ORDER BY pg proc;

QUERY PLAN

Append (cost=0. 00..209. 88 rows=3494 width=4)

—> Seq Scan on pg _proc (cost=0.00..87.47 rows=1747 width=4)
—-> Seq Scan on pg_proc (cost=0.00..87.47 rows=1747 width=4)

UNION (ALL) [C&kBR)H—, A&
IR A M
AXAMIE(C

L
ETHOANDEE
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Nested Loop ;EEF

=t SELECT * FROM pg_foo JOIN pg _namespace
ON (pg_foo. pronamespace=pg_namespace. oid) ;
QUERY PLAN

Nested Loop (cost=1.05..39920.17 rows=5867 width=68)
Join Filter: (“outer”. pronamespace = “inner”.oid)
—> Seq Scan on pg _foo (cost=0.00..13520.54 rows=234654 width=68)
-> Materialize (cost=1.05..1.10 rows=b width=4)
—> Seq Scan on pg_namespace (cost=0.00..1.05 rows=5 width=4)

2DDT=TILDFHEE2DDANtEYE)

INNER JOIN & LEFT OUTER JOIN O fEFH

(IR I T—TIILERF L, A IT—TILIZRYFITHEODHER
BAIEO R MEEL

ATIIADNENESEVEULEHEIZHSATEE. $FZselectA) | 2B
BN HDHIGE
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Merge Join ;EHEF

=t EXPLAIN SELECT relname, nspname FROM pg class left join
pg_namespace ON (pg class. relnamespace = pg namespace.oid) ;
QUERY PLAN

Merge Right Join (cost=14.98..17.79 rows=186 width=128)
Merge Cond: (“outer”.oid = “inner”. relnamespace)
—-> Sort (cost=1.11..1.12 rows=5 width=68)
Sort Key: pg_namespace.oid
—> Seq Scan on pg_namespace (cost=0.00..1.05 rows=5 width=68)
—> Sort (cost=13.87..14.34 rows=186 width=68)
Sort Key: pg _class. relnamespace
—> Seq Scan on pg _class (cost=0.00..6.86 rows=186 width=68)

ZODT—31yr%EJOINT % :outerinner

Merge Right Join&Merge In Join/3 8%
T—REYREHOMLHY—FENTWVEITNIELGRLT . Tl A F
FFICEESIND,
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Hash & Hash Join ;@& F

=t EXPLAIN SELECT relname, nspname FROM pg class JOIN
pg _namespace ON (pg_class. relnamespace=pg _namespace. oid) ;
QUERY PLAN

Hash Join (cost=1.06..10.71 rows=186 width=128)
Hash Cond: (“outer”. relnamespace = “inner”.oid)
—> Seq Scan on pg class (cost=0.00..6.86 rows=186 width=68)
—> Hash (cost=1.05..1.05 rows=5 width=68)
—> Seq Scan on pg_namespace (cost=0.00..1.05 rows=5 width=68)

Jlélza?s_%i\ 27:5 Hash JonEEFTERAINS/ Y aT—TILEE
—BHDAADSINYAT—TILEERL. ZDDANELEKT S
INNER JOIN. OUTER JOINERIEFIZEHLND

NI ADERIZIZFRZ—F7YTaARXMES

25




Tid Scan ;EH F

=# EXPLAIN SELECT oid FROM pg proc WHERE ctid =" (0, 1) ;
QUERY PLAN
Tid Scan on pg proc (cost=0.00..4.01 rows=1 width=4)
Filter: (ctid="00,1)" ::tid)

e hSLAT)LID
o “ctid="MNVT)IZHEESIN-EEDHFEHLND
o HMZIZ{EHLELY, IEFITIRLY
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Function Scan ;B& F

=f CREATE FUNCTION foo(integer) RETURNS SETOF integer AS
$$

$$
LANGUAGE sql

select $1;

=t EXPLAIN SELECT * FROM foo(12) ;
QUERY PLAN

Function Scan on foo (cost=0.00..12.50 rows=1000 width=4)

o BN T—4%Fgatherd 2LEITHTLS
o FSINWNa—TAVTDEAIBIIEFIRTITA
o OB TEHOLNATLSIIIIZDOL TexplainzELFHNE
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SetOp BEHEF

=t EXPLAIN SELECT oid FROM pg proc INTERSECT SELECT oid FROM pg proc;
QUERY PLAN

SetOp Intersect (cost=415.51..432.98 rows=349 width=4)
—> Sort (cost=415.51..424.25 rows=3494 width=4)
Sort Key: oid
—> Append (cost=0.00..209. 88 rows=3494 width=4)
—> Subquery Scan “*SELECT* 1” (cost=0.00..104.94 rows=1747)
—> Seq Scan on pg_proc (cost=0.00..87.47 rows=1747)
—> Subquery Scan “*SELECT* 2” (cost=0.00..104.94 rows=1747)
—> Seq Scan on pg_proc (cost=0.00..87.47 rows=1747)

INTERSECT, INTERSECT ALL, EXCEPT,
EXCEPT ALL’?UDT_&)I_ﬁ é*bé

— SetOp Intersect, Intersect All, Except, Except All
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E1TT 7 D&

« SET enable ;E&E ¥ = off;

- IO —DHLEEFEEEIETIDZEEANEEFTLE D]
ZEMTEDS

— SETZ{To=tviavDHIZEET D
* Planner Method Configuration (on/off)

— enable_bitmapscan

— enable_hashagg

— enable hashjoin

— enable indexscan

— enable_mergejoin

— enable nestloop

— enable seqgscan

— enable_sort

— enable_tidscan
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Seq Scan D&

=t EXPLAIN SELECT * FROM pg class;
QUERY PLAN

Seq Scan on pg class
(cost=100000000. 00. . 100000006. 86 rows=186 width=164)

« IREJ A 100000000.0 ZzRE 9 7=IF

— [src/backend/optimizer/path/costsize.c
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AEXv gl T30 EZS

=t EXPLAIN ANALYZE SELECT * FROM pg_class WHERE oid > 2112;
QUERY PLAN

Seq Scan on pg_class
(cost=0.00.. 7. 33 rows=62 width=164)
(actual time=0.087..1.700 rows=174 loops=1)
Filter: (oid > 2112::0id)
Total runtime: 2.413 ms

= SET enable seqgscan = off;
= EXPLAIN ANALYZE SELECT * ORDER BY pg class WHERE oid > 2112;
QUERY PLAN

Index Scan using pg class_oid index on pg class
(cost=0.00..22. 84 rows=62 width=164)
(actual time=0.144..1.802 rows=174 loops=1)
Index Cond: (oid > 2112::0id)
Total runtime: 2.653 ms
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TS5 NEEIEBAREIZIZ LA R RIZIEZFE
— PLEF/ITESHESIE SET LOCAL THRET DL,
cSUH OO THRICTTNREIZET L1,

(Tom Lane THELRY) NEXT I F—&YBELGL

fth A TIX. TS50 F—([FHERILALAL

— FEHEREFELLMREICE D= EHAAANALYZES,
autovacuum [ZEE 5D —FEE,

— BEIZAHETIANES (Planner Cost Constants) &
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AIHEAL =121, explain analyzeZ{EL V&L
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BREDT /YT

|1. ANALYZEZL &5

2. EIZHhCANALYZEZL &
|3. T—JIILDIEXRIEIZRZEDIT LD
4. $&5, IN, EXISTS {5l v+ &>D
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EEREDT /Ny (H11) : ANALYZEH]]

= EXPLAIN ANALYZE SELECT exception_id FROM exception
JOIN exception_notice_map USING (exception_id)
WHERE complete IS FALSE AND notice_id = 3;
QUERY PLAN

Nested Loop (cost=0.00..2654.65 rows=199 width=8)
(actual time=151.16..538.45 rows=124 loops=1)
—-> Seq Scan on exception_notice_map
(cost=0. 00..250.50 rows=399 width=4)
(actual time=0.10..101.61 rows=15181 loops=1)
Filter: (notice id = 3)
—-> Index Scan using exception_pkey on exception
(cost=0.00..6.01 rows=1 width=4)
(actual time=0.03..0.03 rows=0 loops=15181)
Index Cond: (exception.exception_id = “outer”. exception_id)
Filter: (complete IS FALSE)
Total runtime: 538.76 msec %eption%ﬁ%(:“WHERE complete

IS False”&EWLVSFEDE ATy
DADHY ., FHFB/T-T 17125117
LD IZE>TN ALY




EEDT/Vv7 (H11) : ANALYZE#R

=# ANALYZE exception;
=t EXPLAIN ANALYZE SELECT exception_id FROM exception
JOIN exception_notice_map USING (exception_id)
WHERE complete IS FALSE AND notice_id = 3;
QUERY PLAN

Hash Join (cost=28.48..280.98 rows=1 width=8)
(actual time=31.45..97.78 rows=124 loops=1)
Hash Cond: (“outer”. exception_id = “inner”. exception_id)
—> Seq Scan on exception_notice_map
(cost=0. 00. . 250. 50 rows=399 width=4)
(actual time=0.12..77.12 rows=15181 loops=1)

Filter: (notice_id = 3) BRI\ AN, =0
—> Hash (cost=26.31..26.31 rows=251 width=4) ggg{;ﬁax;&j
(actual time=2.96..2.96 rows=0 loops=1) -

—-> Index Scan using active _exceptions on exception
(cost=0.00..26. 31 rows=251 width=4)
(actual time=0.24..2.55 rows=251 loops=1)
Filter: (complete IS FALSE)

Total runtime: 97.99 msec 35




EERDT /N7 (1512) : ANALYZEH]

= EXPLAIN ANALYZE SELECT exception_id FROM exception
JOIN exception_notice_map USING (exception_id)
WHERE complete IS FALSE AND notice_id = 3;
QUERY PLAN

Hash Join (cost=22.51..45.04 rows=2 width=8)
(actual time=9961.14..11385. 11 rows=105 loops=1)
Hash Cond: (“outer”. exception_id = “inner”. exception_id)
-> Seq Scan on exception
(cost=0.00..20.00 rows=500 width=4)
(actual time=365.12..10659. 11 rows=228 loops=1)
Filter: (complete IS FALSE)
—> Hash (cost=22.50..22.50 rows=5 width=4)
(actual time=723.39..723.39 rows=0 loops=1)
—-> Seqg Scan on exception notice map
(cost=0.00..22.50 rows=5 width=4)
(actual time=10.12..694.57 rows=15271 loops=1)

Filter: (notice_id = 3) - B
Total runtime: 11513.78 msec \/*’EEE&%E% (actual) @

T8 (rows) MEWNIER,
FJ1ZANALYZEL TH 5.,




EEEDT/\vT ($512) : ANALYZE 1[B

=# ANALYZE exception_notice _map;
=t EXPLAIN ANALYZE SELECT exception_id FROM exception
JOIN exception_notice_map USING (exception_id)
WHERE complete IS FALSE AND notice_id = 3;
QUERY PLAN

Merge Join (cost=42.41..802.93 rows=390 width=8)
(actual time=10268.79..10898.29 rows=105 loops=1)
Merge Cond: (“outer”. exception_id = “inner”. exception_id)
—> Index Scan using exception_id on exception_notice map
(cost=0.00..714.22 rows=15562 width=4)
(actual time=50.80..1063.05 rows=15271 loops=1)
Filter: (notice_id = 3) — - .
> Sort (cost=42.41..43.66 rows=500 width=4) AROREFE LT ]
(actual time=9800. 32..9800.65 rows=222 loops=1)
Sort Key: exception. exception_id . " g =
-> Seé Scan gn exceptign - M‘l:#'ﬁﬁ‘ﬂb";ﬂﬁ%ﬂa
(cost=0.00..20.00 rows=500 width=4)
(actual time=357.18..9799.63 rows=228 l|oops=1)
Filter: (complete IS FALSE) 37
Total runtime: 10898. 57 msec




EEEDT/VvT ($512) : ANALYZE 2[5

=# ANALYZE exception; \L
=t EXPLAIN ANALYZE SELECT exception_id FROM exception
JOIN exception _notice _map USING (exception_id) [ FUHMBEULEED
WHERE complete IS FALSE AND notice_id = 3; ALY BEENRE,
f=1=L. REBEDHREMN

QUERY PLAN
EmmL-ERAILE. ..
Merge Join (cost=0.00..796.57 rows=31 width=8) /Z/\\\~ 7

(actual time=425.41..971.81 rows=105 loops=1)
Merge Cond: (“outer”. exception_id = “inner”. exception_id)
—-> Index Scan using active_exceptions on exception
(cost=0.00..41.86 rows=651 width=4)
(actual time=54.04..84.22 rows=222 l|oops=1)
Filter: (complete IS FALSE)
—-> Index Scan using exception_id on exception_notice_map
(cost=0.00..714.22 rows=15562 width=4)
(actual time=34.42..843.10 rows=15271 loops=1)
Filter: (notice_id = 3)
Total runtime: 972.05 msec
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EEDT /3T ($13) : Seq ScanhVELD

= EXPLAIN ANALYZE SELECT s.site_id, s.name, i.image_name FROM images |
JOIN host h USING (host_id) JOIN site s USING (site_id) WHERE images_id > 2112;
QUERY PLAN

Hash Join (cost=113.88..253.51 rows=534 width=53)
(actual time=610.52..627.11 rows=534 loops=1)
Hash Cond: (“outer”.site_id = “inner”.site_id)
—> Seq Scan on site s (cost=0.00..73.74 rows=1974 width=34)

(actual time=b.25..17.43 rows=1974 loops=1) hosti'%@seq\\

—> Hash (cost=112.54..112.54 rows=534 width=19) .
(actual time=605.15..605.15 rows=0 loops=1) ScankFfE A

—> Hash Join (cost=15.01..112.54 rows=534 width=19) thFRELERT

(actual time=590.89..604.06 rows=534 |oops=1) X2
Hash Cond: (“outer”.host_id = “inner”. host_id) aid

1

—> Seq Scan on host h (cost=0.00..77.24 rows=2724 width=8)
(actual time=567.99..581.30 rows=2724 loops=1)
—> Hash (cost=13.68..13.68 rows=534 width=11)
(actual time=17.30..17.30 rows=0 loops=1)
—> Seq Scan on images i (cost=0.00..13.68 rows=534 width=11)
(actual time=14.55..16.47 rows=534 loops=1)
Filter: (images_id > 2112)
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EFEDOT /Ny (5I3) : BXIED[ETE

= VACUUM FULL VERBOSE host;

INFO: —Relation public. host—

INFO: Pages 4785: Changed 0, reaped 4761, Empty O, New O; Tup 2724: Vac O,
Keep/VTL 0/0, UnUsed 267553, MinLen 100, MaxLen 229;

Re-using: Free/Avail. Space 37629760/37627880; —
EndEmpty/Avail. Pages 0/4751. VACUUM FULL T
CPU 0. 30s/0.03u sec elapsed 0.32 sec. EA{EMASEIESES,

INFO: Index host_pkey: Pages 1214; Tuples 2724: Deleted O. 2<{MUnUsedZ @I L

CPU 0.07s/0.01u sec elapsed 0.08 sec.

INFO: Rel host: Pages: 4785 —> 50; Tuple(s) moved: 2724. &—9555175§j(¢5(25)ﬁ’}‘0/,

CPU 0.52s/1.09u sec elapsed 1.66 sec.

INFO: Index host_pkey: Pages 1214; Tuples 2724: Deleted 2724.
CPU 0. 14s/0.00u sec elapsed 0. 14 sec.

INFO: —Relation pg toast. pg toast 2124348104

INFO: Pages 0: Changed 0, reaped O, Empty O, New O; Tup 0: Vac 0, Keep/VTL 0/0,
UnUsed 0, MinLen 0, MaxLen O; Re-using: Free/Avail. Space 0/0;
EndEmpty/Avail. Pages 0/0.
CPU 0.00s/0.00u sec elapsed 0.00 sec.

INFO: Index pg toast 2124348104 index: Pages 1; Tuples O.
CPU 0.00s/0.00u sec elapsed 0.00 sec.

VACUUM
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KEFEDT /NI (HI4) : 56

= EXPLAIN ANALYZE SELECT count (*) FROM advertiser_contact
JOIN advertiser USING (advertiser_id) WHERE type=1;
QUERY PLAN

Aggregate (cost=1.87..1.87 rows=1 width=0)
(actual time=8.790..8.791 rows=1 loops=1)
—> Merge Join (cost=1.03..1.86 rows=2 width=0)
(actual time=8.752..8.766 rows=2 loops=1)
Merge Cond: (“outer”.advertiser_id = “inner”. advertiser_id)

—> Index Scan using advertiser_id_pkey on advertiser ~ — _
(cost=0.00..2. 11 rows=8 width=4) BiCHEEESIE
(actual time=8.627..8.650 rows=4 loops=1) 8.978 ms,

Filter: ("type” = 1) EBTELZLAHD?
—> Sort (cost=1.03..1.03 rows=2 width=4) Lo BTSN _—

(actual time=0.073..0.075 rows=2 loops=1)
Sort Key: advertiser_contact. advertiser_id
—-> Seq Scan on advertiser_contact
(cost=0.00..1.02 rows=2 width=4)
(actual time=0.021..0.027 rows=2 loops=1)
Total runtime: 8.978 ms
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EERDT/NvT (H14) : IN

= EXPLAIN ANALYZE SELECT count (%) FROM advertiser_contact WHERE advertiser_id
IN (SELECT advertiser_id FROM advertiser WHERE type = 1) ;
QUERY PLAN

Aggregate (cost=2.23..2.23 rows=1 width=0)
(actual time=0.261..0.261 rows=1 loops=1)
—> Hash Join (cost=2.15..2.23 rows=2 width=0)
(actual time=0.231..0.246 rows=2 loops=1)
Hash Cond: (“outer”. advertiser_id = “inner”. advertiser_id)
—> HashAggregate (cost=1.12..1.12 rows=8 width=4)
(actual time=0.091..0.112 rows=8 loops=1)
—> Seq Scan on advertiser (cost=0.00..1.10 rows=8 width=4)
(actual time=0.051..0.068 rows=8 loops=1)
Filter: ("type” = 1)
—> Hash (cost=1.02..1.02 rows=2 width=4)
(actual time=0.101..0.101 rows=0 loops=1)
-> Seq Scan on advertiser_contact
(cost=0.00..1.02 rows=2 width=4)

(actual time=0.088..0.094 rows=2 l|loops=1) _ - . -
Total runtime: 0.422 ms | INIZLF=53ELZEo 7 = !
\8.978 — 0.422 ms

42



EERDT /3T (Hl4) : EXISTS

=ff EXPLAIN ANALYZE SELECT count (*) FROM advertiser_contact WHERE
EXISTS (SELECT 1 FROM advertiser

WHERE advertiser_id=advertiser_contact. advertiser_id AND type = 1);
QUERY PLAN

Aggregate (cost=3.27..3.27 rows=1 width=0)
(actual time=0.200..0.201 rows=1 loops=1)
—-> Seq Scan on advertiser_contact
(cost=0.00. . 3.26 rows=1 width=0)
(actual time=0.162..0.179 rows=2 loops=1)
Filter: (subplan)
SubPlan
—-> Seq Scan on advertiser
(cost=0.00..1.12 rows=1 width=0)
(actual time=0.034..0.034 rows=1 loops=2)

Filter: ((advertiser_id = $0) AND ("type” = 1)) /EXISTS(i‘éBIZEL\ l\
Total runtime: 0.333 ms ~ 0_422 — 0.333ms

c 1DOIITIZHLTAEYDE7T0—F N H S
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AN 12

o FVOCFILDASAREH
— http://redivi.com/~bob/oscon2005 pgsqgl pdf/OSCON_Explainin
g_Explain_Public.pdf

« PostgreSQLXZE

— EXPLAIN®DF] A
 http://www.postgresql.jp/document/current/html/using-explain.html
— 1THE DA
 http://www.postgresql.jp/document/current/html/row-estimation-
examples.html

* Reading PgAdmin Graphical Explain Plans

— http://www.postgresonline.com/journal/index.php?/archives/27-
Reading-PgAdmin-Graphical-Explain-Plans.html
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